612.36 a
20,000 = 240) - 20,000 - 20,000
8 ) 5
(1+1) (14(2/30)1)(1+1)  (1+(8/30)1) (1+1)

Annual percentage rate (1) = wi = ,1025 = 10.25%
Example (ii): Student loan

A student loan consists of 8 advances: $1800 on 9-5-78, 9-5-79,
9-5-80, and 9-5-81; plus $1000 on 1-5-79, 1-5-80, 1-5-81, and
1-5-82. The borrower is to make 50 monthly payments of $240

each beginning 7-1-78 (prior to first advance).

Unit-period = 1 month. Unit-periods per year (w) = 12,

Zero point 1is date of first payment since it precedes first advance.
From 7-1-78 to 9~5-78 = (2 + 4/30) unit-periods.

"m " 9-5-79 = (14 + 4/30) ’
" v m 9-5-80 = (26 + 4/30) )
“ % e g9.5.8] = (38 + 4/30) )
mv v 1-5-79 = (6 + 4/30) :
“ v % 1-5-80 = (18 + 4/30) )
. w " 1-5-81 = (30 + 4/30) "
" " m 1582 = (42 + 4/30) "

Since the zero point is date of first payment, the general equation
in paragraph (b)(8) of this section is written in the single
advance form below by treating the first payment as a negative
advance and the 8 advances as negative payments:

240 ‘a
- 240 = 49l - 1800 1 +
(1+1) (1+(4/30)1) 2
(1+1)
1 + 1 + 1
14 26 38
(1+1) (1+1) (1+1)
- 1000 1 + 1 + 1 + 1
(1+(4/30)1) 6 18 30 42
(1+1) (1+1) (1+1) (1+1)

Annual percentage rate (I) = wi = .3204 = 32.04%

(46 FR 20892, Apr. 7, 1981, as amended at 46 FR 29246, June 1, 1981)



